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QUESTION 1

Which statement is true regarding File description (FD) conserve mode? 

A. IPS inspection is affected when FortiGate enters FD conserve mode. 

B. A FortiGate enters FD conserve mode when the amount of available description is less than 5%. 

C. FD conserve mode affects all daemons running on the device. 

D. Restarting the WAD process is required to leave FD conserve mode. 

Correct Answer: B 

 

QUESTION 2

View the exhibit, which contains the output of a diagnose command, and then answer the question below. 

Which statements are true regarding the output in the exhibit? (Choose two.) 

A. FortiGate will probe 121.111.236.179 every fifteen minutes for a response. 

B. Servers with the D flag are considered to be down. 

C. Servers with a negative TZ value are experiencing a service outage. 

D. FortiGate used 209.222.147.3 as the initial server to validate its contract. 

Latest NSE7 Dumps | NSE7 VCE Dumps | NSE7 Braindumps                              2 / 12

https://www.pass4itsure.com/nse7.html
https://www.pass4itsure.com/nse7.html
https://www.pass4itsure.com/nse7.html


https://www.pass4itsure.com/nse7.html
2024 Latest pass4itsure NSE7 PDF and VCE dumps Download

Correct Answer: CD 

 

QUESTION 3

Examine the following partial output from two system debug commands; then answer the question below. 

Which of the following statements are true regarding the above outputs? (Choose two.) 

A. The unit is running a 32-bit FortiOS 

B. The unit is in kernel conserve mode 

C. The Cached value is always the Active value plus the Inactive value 

D. Kernel indirectly accesses the low memory (LowTotal) through memory paging 

Correct Answer: AC 
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QUESTION 4

What is the purpose of an internal segmentation firewall (ISFW)? 

A. It inspects incoming traffic to protect services in the corporate DMZ. 

B. It is the first line of defense at the network perimeter. 

C. It splits the network into multiple security segments to minimize the impact of breaches. 

D. It is an all-in-one security appliance that is placed at remote sites to extend the enterprise network. 

Correct Answer: B 

 

QUESTION 5

What does the dirty flag mean in a FortiGate session? 

A. Traffic has been blocked by the antivirus inspection. 

B. The next packet must be re-evaluated against the firewall policies. 

C. The session must be removed from the former primary unit after an HA failover. 

D. Traffic has been identified as from an application that is not allowed. 

Correct Answer: B 

 

QUESTION 6

View the exhibit, which contains a partial web filter profile configuration, and then answer the question 

below. 
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Which action will FortiGate take if a user attempts to access www.dropbox.com, which is categorized as File Sharing
and Storage? 
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A. FortiGate will exempt the connection based on the Web Content Filter configuration. 

B. FortiGate will block the connection based on the URL Filter configuration. 

C. FortiGate will allow the connection based on the FortiGuard category based filter configuration. 

D. FortiGate will block the connection as an invalid URL. 

Correct Answer: B 

 

QUESTION 7

View the exhibit, which contains the partial output of an IKE real-time debug, and then answer the question below. 

Why didn\\'t the tunnel come up? 

A. The pre-shared keys do not match. 

B. The remote gateway\\'s phase 2 configuration does not match the local gateway\\'s phase 2 configuration. 

C. The remote gateway\\'s phase 1 configuration does not match the local gateway\\'s phase 1 configuration. 

D. The remote gateway is using aggressive mode and the local gateway is configured to use man mode. 

Correct Answer: C 
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QUESTION 8

Four FortiGate devices configured for OSPF connected to the same broadcast domain. The first unit is elected as the
designated router The second unit is elected as the backup designated router Under normal operation, how many OSPF
full adjacencies are formed to each of the other two units? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

 

QUESTION 9

Which real time debug should an administrator enable to troubleshoot RADIUS authentication problems? 

A. Diagnose debug application radius -1. 

B. Diagnose debug application fnbamd -1. 

C. Diagnose authd console –log enable. 

D. Diagnose radius console –log enable. 

Correct Answer: A 

 

QUESTION 10

Examine the output of the `get router info bgp summary\\' command shown in the exhibit; then answer the question
below. 

Latest NSE7 Dumps | NSE7 VCE Dumps | NSE7 Braindumps                              7 / 12

https://www.pass4itsure.com/nse7.html
https://www.pass4itsure.com/nse7.html
https://www.pass4itsure.com/nse7.html


https://www.pass4itsure.com/nse7.html
2024 Latest pass4itsure NSE7 PDF and VCE dumps Download

Which statement can explain why the state of the remote BGP peer 10.200.3.1 is Connect? 

A. The local peer is receiving the BGP keepalives from the remote peer but it has not received any BGP prefix yet. 

B. The TCP session for the BGP connection to 10.200.3.1 is down. 

C. The local peer has received the BGP prefixed from the remote peer. 

D. The local peer is receiving the BGP keepalives from the remote peer but it has not received the OpenConfirm yet. 

Correct Answer: B 

 

QUESTION 11

View the following FortiGate configuration. 

All traffic to the Internet currently egresses from port1. The exhibit shows partial session information for Internet traffic
from a user on the internal network: 
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If the priority on route ID 1 were changed from 5 to 20, what would happen to traffic matching that user\\'s session? 

A. The session would remain in the session table, and its traffic would still egress from port1. 

B. The session would remain in the session table, but its traffic would now egress from both port1 and port2. 

C. The session would remain in the session table, and its traffic would start to egress from port2. 

D. The session would be deleted, so the client would need to start a new session. 

Correct Answer: D 

 

QUESTION 12

An administrator has configured the following CLI script on FortiManager, which failed to apply any 

changes to the managed device after being executed. 
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Why didn\\'t the script make any changes to the managed device? 

A. Commands that start with the # sign are not executed. 

B. CLI scripts will add objects only if they are referenced by policies. 

C. Incomplete commands are ignored in CLI scripts. 

D. Static routes can only be added using TCL scripts. 

Correct Answer: B 

 

QUESTION 13

Examine the output of the `diagnose ips anomaly list\\' command shown in the exhibit; then answer the question below. 

Which IP addresses are included in the output of this command? 

A. Those whose traffic matches a DoS policy. 
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B. Those whose traffic matches an IPS sensor. 

C. Those whose traffic exceeded a threshold of a matching DoS policy. 

D. Those whose traffic was detected as an anomaly by an IPS sensor. 

Correct Answer: A 

 

QUESTION 14

An administrator has configured a FortiGate device with two VDOMs: root and internal. The administrator has also
created and inter-VDOM link that connects both VDOMs. The objective is to have each VDOM advertise some routes to
the other VDOM via OSPF through the inter-VDOM link. What OSPF configuration settings must match in both VDOMs
to have the OSPF adjacency successfully forming? (Choose three.) 

A. Router ID. 

B. OSPF interface area. 

C. OSPF interface cost. 

D. OSPF interface MTU. 

E. Interface subnet mask. 

Correct Answer: BDE 

 

QUESTION 15

Examine the output of the `get router info ospf interface\\' command shown in the exhibit; then answer the question
below. 
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Which statements are true regarding the above output? (Choose two.) 

A. The port4 interface is connected to the OSPF backbone area. 

B. The local FortiGate has been elected as the OSPF backup designated router. 

C. There are at least 5 OSPF routers connected to the port4 network. 

D. Two OSPF routers are down in the port4 network. 

Correct Answer: AD 
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